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GEOGRAPHY
(Honours Generic/ Reguiaf)
Full Marks : 60
Time : Three hours

" The figures in the margin indicate
SJull marks for the questions.

* Answer either in English or in Assamese.
| Paper : GGY-HG-RC-1016
( Physical Geography)
( 2w gooreT )

1. Select the correct answer : 1x7=7

@%maﬁ%ﬁi\ﬁmf

(a) Ultravmlet rays.of the sun are absorbed

’?ﬁ? oS- QTR aﬁn RS =
(i) stratosphere '
(B0 TS

Contd.



" (i)  ionosphere

"(iii) ozonosphere
G ETNGTS
(iv) exosphere
IfENeTe
(b) The temperature of NIFE layer is about \
- feE w2oR Tt =
(i) 1000°C
sooo fEfd (52
(i) 2000°C
Y000 o 52
(iii) 2500°C
y¢oo Ty (5¢
(iv) 3000°C
9000 fofa (o3
(¢) Doldrum is a belt of
TGN e
() Calm condition of winds with low
pressure
fmpre Gite T e CER
(i} Unstable condltlon Wlth high
pressure :
TbIR TS Wiy vy
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(i) Thunderstorm with lightning

Reptt o=RhRE &Y
(iv) None qf the above
SIEE HI8 T |
(d) Chemical weathering is active mainly
in the - '
e Rpftem ewe: Sidss =
(i) glaciated region . '
EXNERER I
: (ii)' arid region
Y P
(iii) karst region
- pe IS
(iv) None of the above |
SIHIG I8 N

(e) Sedimentary rocks are mainly made up
of weathered remains of

i FierrE oba = duie Rpfigs wafie
(i)- basalt '
| @R TR
(i) metamorphic rocks
ForeRe e o
(i) humas
- g ARl
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(iv) Igneous rocks
, wea il ai |
() A deep and narrow river valley is called
- @ft 7 W% (5% T TAGIIE @I W
(i) canyon or gorge
- e
" (i) V-shaped valley
S V-SIgleR oot
(g) Temperature and precipitation were the
basic features of climatic classification
as given by
GERIY RITIROITTS Sisai S ST
= fofe sRia
(i) Trewartha
gy
(i) Thornthwaite
IR |
(iii)  Koppen
' (AT |
_{iv) None of the above
SARIG oS FZ
2. Write short answer : . 2x4=8
- 5 e T '

(i) What do you mean by monsoon
. climate?

mwmﬁﬁ‘)

3 (Sem-1/CBCS) GGY HG/RC/G 4



(ii) | What do you mean by precipitaﬁon ?
waicEeld e [ e

(iii) Name different layers of the lithosphere.
e [fen orm aw i)

‘(i) What is ocean current ?

TR Gire e Ree

3. Write short notes on: (any three)

oo’ faree folbr s ot ¢
(i) Scope of physical geography
- dipfeT graieR AR
(i) Hydrological cycle
TEber v
(iii) Vertical structure of atmosphere
ATIETR TR Ao

(iv) - Weathering and erosion

4. Answer any three of the following
questions : 10x3=30

o] ot Tee o ¢ (fa‘rmmﬁﬁi"r)

- (i) Describe Koppen’s climatic classification.
- 10

5x3=15 .

AT TRy, (e I
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(i) .

fii)

(iv)

Describe the ocean bottom relief
features with diagram. 7+3=10
TSN SR SRR 3991 1 |

What do you mean by normal cycle of
erosion ? Write the land features
developed in different stages of normal
cycle. of erosion. 3+7=10

AT whE i B et fien SR

FeiRS FoTe i (@R G- I |

Discuss the source and distribution of

.monsoon wind. 5+5=10

GTRT! TOIT T W% [Foee 79I S
|
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Paper : GGY-HG-1026
(Honours Generic) :
(Geography of Tourism)

Full Marks : 60
- Time : Three hours

' The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
(a) Who was the first foreigner to visit
Indla? :

Tueite o e Roeh o SRR
ean Wf’ﬁ?.
() Hiuen Tsang
e R
" (i) Megasthenes
cnfERE
(iii) Fa-Hien
wRem
(iv) Marco Polo
T AT
(Choose the correct answer)

(3% TR IR Tfesam)
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(b) Which one of the following is not an
example of festival of Assam ?
SR (PNl SRR %vr« TR w2

(i) Kherai
RI1Z |
() Narali Pournima
waife sffam
(iii) Hamjhar
YR
(iv) Nimso kerung
R @ :
~ (Choose the correct answer)
| (5% et a1 Sfea)
(0 is called ‘cultural capital’ of
Assam.
SRS ST ‘ﬂm{%aﬁm e = |
(i) Tezpur
(O]
(ii) Nalbari
(iii) Jorhat
(iv) Pathsala
STl
(Choose the correct answer)
(o7 Ter iR Bfea)
(d) What is the full form of ATDC ?
ATDC 3 75§ Jolhi R
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le) is the ‘tea capital’ of India.
- OISR BIg AUy |
(i) Tinsukia
R
- (ii) Darjeeling
- wifefeR
(iii) Assam
—
" (v} Sivasagar
e
' (Choose ‘the correct answer)
' (o7 Tewr AR Bfaean)
() Chitralekha Park is located at -
foaeat Tapim © SRS |
() Shillong -
RER |
(i) Manipur
RSk
(iii) Tezpur
- OER
(iv) Charaideu
PREE
(Choose the correct answer).
(9% Tewh! AR Tfsan)
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(g9 Deepar Beelbis located at

Mo o1 __ © wrf¥e|
(i) Jorhat
QISR
(i) Diphu
fo
(iii) Dibrugarh
fegore
(iv) Guwahati
S
(Choose the correct answer)
(2% Teveh! AR Biear)
2. Answer the following questions in very short :
. - 2x4=8
TR TR SIS Y Tew i ¢
(a) Name two geographical components of
“tourism.

Sffo 757 (AP ottt e
(b) Which one is the smallest. National Park
in India and where is it located ?

Gﬁr?ﬂaﬁﬁﬁmiﬁﬁﬂﬁﬁmﬂC¢ﬁﬂﬂ€W%3?§3

SR{F ?

{¢) Name two challenges of medical
.tourism.
ofse #1615 AW Tra |

(d) Name two new tourism schemes in
India.
BRI 737G L6 5T w1 Sz < |

3 (Sem-1/CBCS) GGY HG/RC/G 10



3. Write short notes on the following: (any
' three). : . 5x3=15
RIS TR 8o G 7t ¢ (R fofby)
(a) Cultural Tourism |
AR Ao -
- (b) Raimona National Park
a2 T T
(c) Tribes of Assam
PR GO
(d) Chapanala Falls
BleliEl SEiele
(e) Sri Suryya Hill
Q7 =R
4. Answer any three q'uestions‘ from the
following : 4 10x3=30
NI 2PPTIE e =1 Rzl fofbIT Tes o s

() What is nature tourism ? Discuss its

~advantages and disadvantages.
2+8=10

ogfe wfbn Rre TR R4 IR TRAER
HCToN FA

(b) Analyse the factors that contributed to
the slow tourism development in North-

East India. 10
Pee-o7 ONes T {0 TAATS Wi
@il SR Ressd 90
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(c)

(@

le)

What is sustainable tourism ? What
are the ways to promote sustainable

. tourism ? 3+7=10
TN A6 2 I o TR AR
= e

Explain the significance of the New

‘Tourism Policy, 2020 in Indian

economy. - 10
SRS e v ﬂtfﬁawrsﬁ 3030 T UFY
GG 1A

How does tourism affect the
environment ? Illustrate with example.
10

WWWWW9WW
ST 1 |

What is hill resort ? Elucidate the future
prospect of hill resort in Assam tourism.
2+8=10

:%ﬁ@%ﬁvwm%ﬁﬁa@ﬁm

W@WWWI
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Paper : GGY-HG-1026
(Old Syllabus)
(Honours, Generic )
(Disaster Management)
Full Mark; : 60
'Tir'n,e : Three hours

The figures in the margin indicate
Jull marks for the questions.

Aﬁswer either in English or in Assamese.
1. Answer the following questions : 1x7=7
TR SRR TR ol

(a) Narhe the earthquake measuring
instrument. _
g™l (Gl TFOR W o
(b) What is greenhouse gas ?
T 9z (o 52
() What is soil erosion ?
- iy &2
(d) Mention the causes of tsunami.
AR (IR e e
() Give the definition of disaster.

wefiore e |
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.0‘) What do you understand by balanced
ecosystem ?

ARffooR oS e S gE?
(g) Give the concept of vulnerability.
e S AGE INCe

2. Mention two reasons of water pollution.

2

A AR 75 PRA T |

3. What is disaster management ? 2
wEadtsl IRReml W e

4. Give two reasons of landslide. 2
fyee 701 I izl |

5. What are the causes of drought ? 2
4qR Io PRARR & &2 -

6 Write short notes on : (any three) 5x3=15
5y (ORet ol ¢ (R folAG))

() Distinguish between hazard and
disaster.

R e R 214y ﬁam

(i)’ Write a note on the measures that
should be adopted during and after
disaster for its management.

it 0 IS e 12 QIR v oyt 3R
ol IR R ot G v
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(i) Explain the physical factors of
earthquake.

" SRR AIFRT IRTER T 0|

(iv) Explain briefly the causes of
desertification ?

TN JIFIERIT 5T At A |

(v) Write a note on' National Disaster |
Management Authority.

IV el e e R Bt (Bt et |

7.  What is flood ? Eﬁ(plain flood as a hazard in

Assam along with its causes of occurrence.
2+8=10

AN 2 SR ARAINT BT (PR PR
3t =t
Or/ 94 .

What ié lahdslide ? Mention the measﬁres
that should be adopted during and after

the occurrence of landslide. 2+8=10
giirge e ofifgem T2 ATiTe % (@RIT fFive
7] F9ll ITRIRIRS Raew 3o =401

8. Define global warming. Explain the causes

and effects of global warming in detail. .
2+8=10

e T 3 s | e Tt 9fae
el O BAA SRR RACH eS|
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Or/ WQNI_’

Wha’; are the major hazards and disasters
in North-East India ? Discuss how to
mitigate hazard and disasters at dlfferent
levels. | ' 4+6=10
Te-of7 ©IgeS @RI gqH gEdie o Retfaae &
ﬁWﬁvmwmzcmﬁWWqﬁﬁw
R =1 = 3l 3=

9. What is man-made hazard ? Write a noté
on the causes of man-made hazard and its
effects in global context. 2+8=10

- R R el e TR R rdtere seietaies Raw
=R iy Rfeq wwere @Rﬂi"ﬂﬁ ForR Ram
I =M

Or/ q<f

* Explain the causes of earthquake in detaﬂ
Write a note on North-East Indian region as
an earthquake prone area. 3+7=10
ST PRI 391 391 | Sfiie=ri-eia Wiz oI
e[ SRR RATH @B B Bl -
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